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1. Two routers are physically connected to each other over Ethernet port 1/1/1. Review the configuration

information shown below. What state should the OSPF neighbor be in?
Mode 1

configs port 1/1/1
ethernet
mtu 1514
exit
no shutdown
router interface tolModez
address 10.1.5.1/24
port 17171
router ospf
area 0.0.0.0
interface "tolNodeZ"
mtu 1500

Mode 2

confige> port 1/171
no shutdown
router interface toModel
addres=s 10.1.5.2/24
porc 17171
router ospf
area 0.0.0.0
interface "tolNodel"
mtu 1500

A. INIT

B. EXCHANGE

C. EXSTART

D. FULL

E. No OSPF neighbor
Answer: E

2. Which of the following debug statements can be used to troubleshoot if the OSPF adjacency is staying
at xstart state? Select two answers.

A. debug router ospf rtm

B. debug router ospf packet dbdescr

C. debug router ospf neighbor

D. debug router ospf packet hello

E. debug router ospf spf

Answer: BC

3. Based on the following configuration, which of the following statements are true? Choose all that apply.
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Hode-1

configrrouter>ospt#
area 0.0.0.0
interface "to-Node-Z"
metric 50
authentication-key "DoGpEhE45333nMNpS52 IugsEZ82™ hashi
interface "to-Node-3"
metric 50
area 0.0.0.1
nssa
originate-default-route
interface "to-MNode-4"
metric 50

Node-2

configsrrouter>ospf#
area 0.0.0.0
interface "to-Node-17

authentication-key " Sh77i34bPCeHz ArmSiaFulHixNbhnlligiZ "™ hashi

Node-3

configrrouterrospi#
area 0.0.0.0
interface "to-Node-1"
hello-interwval 15

Node-4

configrrouterrospt#
area 0.0.0.1
interface "to-Node-1"
metric 50

A. No OPSF adjacency found on Node 1

B. Full OSPF adjacency between Node-1 and Node-2
C. Full OSPF adjacency between Node-1 and Node-3
D. Full OSPF adjacency between Node-1 and Node-4
E. OSPF is enabled on Node 1

Answer: BE

4. Two routers are physically connected to each other over Ethernet port 1/1/1. Review the configuration
information below. What state should the OSPF neighbor be in?
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Mode 1
configs port 1/1/1
ethernet
mtu 1514
exit

no shutdown
router interface tolModez
address 10.1.5.1/24
port 17171
router ospf
area 0.0.0.0
interface "tolNodeZ"
mtu 1500

Mode 2

confige> port 1/171
no shutdown
router interface toModel
addres=s 10.1.5.2/24
porc 17171
router ospf
area 0.0.0.0
interface "tolNodel"
mtu 1500

A. INIT

B. EXCHANGE

C. EXSTART

D. FULL

E. No OSPF neighbor
Answer: D

5. Two routers are physically connected running ISIS. ISIS L2 adjacency is up and running but L1
adjacency is not up. Review the configuration information shown below:
Which of the following statement best describe the cause of the problem? Select one answer only.
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Pod-1

configrrouter:>
izi=
interface "toPFodzZ"
exit

# show router i=is interface detail

I3I3 Interfaces

Interface 1 toPod2 Lewvel Capsbility: L1L2
Oper State : Up Adwin State : Up
Ahuth Type : None
Circuitc Id HI Retcransmit Int. : 5
Type : Broadoast L3P Pacing Int. : 100
Mesh Group : Inactive CSNF Int. : 10
Bfd Ensbled : Nao
Level HE Ldjacencies Hal
Desg. IA : Podil
Luth Type : None Metric : 10
Hello Timer : 9 Hello HMulc. H]
Prioritcy : B4 Passive : No
Level £ o Ldjacencies i
De=g. I3 : Podl
Luth Type : None HMetrie r 10
Hello Timer : 9 Hello Mult. HE|
Priority 64 Passive : No
Pod-2
configrrouter:
izi=
interface "toPodl”
exit

# show router isis interface detail

Interface : toPodl Level Capability: L1L2
Oper State : Up Lidwmin State : Up
Ahuth Type : None
Circuitc Id H] Retcransmit Int. : 5
Type : Broadoast L3P Pacing Int. : 100
Mesh Group : Inactive CSNF Int. : 10
BEfd Enahled 1 Mo
Level HI Ldjacencies Hal
Desg. IA : Podz
Luth Type : None Metriec r1n
Hello Timer : 9 Hello HMulc. H]
Prioritcy : B4 Passive : No
Level H Ldjacencies HE
De=g. IS : Podil
Auth Type 1 None Metric 10
Hello Timer : 9 Hello Mult. H®
Priority 64 Passive : No

A. The ISIS interface level is not configured on both routers

B. The ISIS interface type should be configured as point-to-point interfaces
C. ISIS System IDs are not configured on both routers

D. ISIS Area addresses are not configured on both routers

E. ISIS level capacity are not configured on both routers

Answer: D
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